=i

—m
M = QQ
[6)e] reYe)
3 v o Rl )
g 0 d D 3.4 me G
=~ [HeBHa G @ Al.I10 [HeBHa 240
29.8 m? 65.21kB.M 253 m? 240
o ol@
3| N * g‘§ gl
Kopugop - = |
82 : —
= —ch?s Kopuaop —2%65 Kopuaop 20
8.3 m?
cTbnbue w0 CnanHs
13.7 m? = 15.6 m?
Bans 190
72 5 ()36 m? 150
5 WC O = ”
Q 1.5m? 0
82 =1 | 0] 1
e ; -
C'n;n6vxu_|e—' ‘ ) — |
San 13.3 m? 90
\{- 240
3.5 mz 145 IS —
o o 235
Bana BaHst
2m? 31m
[ (5> ﬂ——g 190
Yt Q‘g Cnants 150
% “ 13.4 m?
& U= = me = g
Kopuaop 205 205 : 205 I
3.2 m? u
ol opuaop =
A= * gam 98y [anry N I T
205 66.09K8.M S
G ¥ OHesHa 240
2
T 252m PaznpegeneHue - eTax 3
g D i 6} spaca Bxopn, I
q p zr-Ke d D |
[l o ey
el _HEREHNS g D

i O
Tepaca
=250 AM.r'9
L 83.12kB.M
UL 8[3
CnanHsi
190 13.9 m®
150
CnanHs
190 13.2 m?
150
Cnanns
120 14.3 miz
150
1L S g 7
Al.I8
190
240 56.13kB.M
Tepaca
] | s—
o ]
D —

s = B —




